Grade 6 Beginning of Year Diagnostic Test Name:
Date:

1 The following table shows the times of four students who ran the 50-yard dash in their
physical education class. The students are listed in alphabetical order. Who ran the dash
in the slowest time?

Time

Student {in seconds)
Adam 7.945
Christy 7717
Gloria 7.924
Joji 7.752

A  Christy

B Joji

C Adam

D Giloria

2 This table shows the weight in pounds of Vick’s kitten at the end of each week after the
kitten’s birth. If the pattern in the table continues, what will be the weight of the kitten at the
end of the sixth week?

Week 1 2 3 4 5 6
Weight 0461055]1064]0.73

A 0.81 pounds
B 0.85 pounds
C 0.89 pounds
D 0.91 pounds

3 What is the sum of 7.535 and 29.027?

A 10.437
B 26.555
C 36.555
D 104.37
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4 Which picture represents the problem?

At the beginning of a cake sale, there were 72 cakes. In the morning, 43 cakes were sold.
When the cake sale was over, 17 more cakes had been sold. How many cakes were left
when the cake sale was over? Use x to represent the unknown number.

72
A 43 |17 | x
x
B 72 | 43 |17
72 | 17
C 2 |
72 +x
D 43 | 17

5 A ride at an amusement park has 18 cars. If each car holds 6 people, what is the total
number of people the ride can hold?

A 216 people
B 108 people
C 54 people
D 37 people

6 A cardboard box with equal sides 5 inches long has a volume of 5 cubic inches. Which of

N 3
the following is equal to 7 ?

15
75
125
243

OO w>»
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7 A company wants to order 140 light bulbs. The light bulbs come in boxes of 16. How many
boxes will the company have to order?

A 9 boxes
B 8 boxes
C 7 boxes
D 6 boxes

. -3 . .
8 Which is 24 =10~ written in standard notation?

A 240
B 240
C .024
D .0024
9 If Dave reads an average of 36 books a year for 7 years, he will read 36 x 7 books. Which

of the following is equal to 36 x 77?

A B0+7)-(6+7)
B (B0+7)x(6+7)
C ([@BOx7)—(6x7)
D ([@B0x7)+(6x7)

10 Alan, Denise, Paco, and Samantha have a total of $39 to spend at the movies. It will cost
them $6 a piece for a total of $24 for tickets. They can spend the rest on juice drinks and
popcorn. They plan to spend twice as much on juice drinks as on popcorn. How much do
they plan to spend on juice drinks?

$9

$10
$12
$15

OO0 w>»
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11

12

13

14

Sarah is planting a vegetable garden that has an area of 220.5 square feet. She wants to
fill 0.3 of the garden with green beans. How many square feet will she use for green
beans?

92.33 square feet
66.15 square feet
9.232 square feet
6.615 square feet

OO0 w>»

The Castillo family has to drive 582 miles to visit a relative. There are 3 drivers in the car,
so they want to break up the trip into three equal parts. What is a reasonable number of
miles for each part?

194, because 582 + 3 is about 600 + 3 = 200
168, because 582 + 3 is about 510 + 3 =170
148, because 582 + 3 is about 600 + 4 = 150
144, because 582 + 3 is about 560 + 4 = 140

OO w>»

Ira wants to move 60.36 pounds of wood, but it’s too heavy. He decides to divide his wood
into 4 piles that each weigh the same amount. How many pounds will each pile weigh?

15.9 pounds
15.59 pounds
15.09 pounds
1.59 pounds

OO w>»

For an art project, Corinne and Amelia want to combine their colored pens and distribute
them evenly among 12 first graders. If Corinne has 84 colored pens and Amelia has
72 colored pens, how many pens will each first grader get?

A 6 pens
B 8pens
C 12pens
D 13pens
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15  What is the measure of the unknown angle?

OO0 w>»

16  Which rule describes how many faces a prism has when the shape of its base has n

sides?

Typeof  Numberof Faces of

Prism Sides, n Prism
Triangular 3 ]
Rectanglar 4 4]
Pentagonal ] 7
Hexagonal ] ]

OO0 w>»

17  Find all the factors of 16 and state whether the number is prime or composite.

A
B
C
D

nx.2
n-2
n+2
n+2

1,4, 12, 16; composite

1, 16; prime

1, 2, 4, 8, 16; composite

1,2, 4,8, 16; prime
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18  Cheryl has $20 bills and $10 bills in her wallet. The total value of the bills is $90. She has 3

more $10 bills than $20 bills. How many of each kind of bill does Cheryl have?

A

B
C
D

19

one $20 bill and four $10 bills
two $20 bills and five $10 bills
three $20 bills and six $10 bills
four $20 bills and seven $10 bills

T

Which is the missing number in 3127

A
B
C
D

6

4
3
2

20  Which two numbers are shown by point Y on the number line?

¥

1-.,25

1
1-.,1.25
4
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1

21
Glenn made a loaf of banana nut bread for a picnic. He used Z cup fewer nuts than in the
5
recipe. If the recipe called for 6 cup of nuts, what amount of nuts did Glenn use?
1
3 cup
&
B cup
C 1cup
4
3 cup
22 3 3
Lisa played soccer for 24 hours on Saturday and for 15 hours on Sunday. How many
hours did she play soccer during the weekend?
4
A 33 hours
]
B 45 hours
7
c 420 hours
d
D 370 hours
23 4 8
Which of the following is equal to 11 + 87
Y _ 4
AT
4 17
B 1173
4 _ 11
C 373
8 B
D 775
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24 1
Alison eats 12 apples each day. Which equation can be used to find b, the number of

apples she will eat in 8 days?

? Total Apples Eaten

12 1L 1R 1S |15 (15|13

A ’11><b=8
2

B 8><b:11

2

C 8-1t=b

2

D ’11><8=b

2

25 Lois wants to buy a piece of cloth to make a shirt. Which cloth has the greatest area?

S

151
/= %
B 181
—
C h
16 1t
S
D 161t
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26 Celia is planning a rectangular flower garden. She has 64 feet of fencing and wants to use
all of it to enclose a garden with the greatest possible area. Which dimensions will give her
garden the greatest possible area?

14 feet by 18 feet
16 feet by 16 feet
12 feet by 20 feet
8 feet by 24 feet

OO0 w>»

27  Which solid figure can be formed with this net?

cone

rectangular prism
triangular pyramid
triangular prism

OO0 w>»

28 What is the volume of the rectangular prism?

5cm
dcm
gcm
A 17cm®
B 60cm®
C 120cm®
D 160cm?®
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29 1
Which number line shows point D at 24 ?
- | 1 | 1 | 1 | | | 1 III;: | | | 1 | 1 | [
A 3 -2 1 0 1 2 3 4 5 B
B 3 -2 -1 0 1 2 3 4 5 8
il 1 1 1 1 1 1 1 1 1 1 II?I 1 1 1 l 1 1 [
C 3 -2 -1 0 1 2 3 4 5 6
D >

30 Ibrahim had $503 in his bank account after his first art sale. He sold $325 worth of
paintings. If it cost him $50 for his space at the sale and he spent $25 on refreshments
during the sale, how much money was in his account before the art sale?

$103
$153
$178
$253

OO w>»

31  The table shows the number of words, w, that Eric read in m minutes. Which equation
could be used to represent the relationship in the table?

Number of Number of
Minutes, m Words, w
1 125
2 250
3 375

O o w >»r
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32 Felicia is distributing 81 cans of food evenly among 9 local charities. Which equation can
be used to find g, the number of cans Felicia can distribute to each charity?

. 81 Cans

[elelele[e]e]?]?]?]
Charities

g+81=9
81g =9
81 =9g
g

O Ow>»

81 =9

33  About 43% of Americans regularly vote. What is the ratio of Americans who regularly vote
to all Americans?

43
57
43
100
100
43
57
43

o O w >

34  Which of the following can be used to find 45% of 1127

Multiply 1.12 by 0.45.
Multiply 112 by 0.45.

Multiply 112 by 0.45 and 100.
Multiply 100 by 45.

OO0 w>»
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35 The grid map shows the location of some places in Remigio’s neighborhood. What are the
coordinates of the park?

¥
]
4
musgurm
2
theater .

- N
4003 -2 10 12 4
1

| restatrant

2

0o

3

4

. park
A (3,5
B (_51 3)
C (3,5

36 To getto Amala’s house, Tara walks 4 blocks east (right), then 3 blocks north (up), and
then 2 blocks east. Amala’s house has coordinates (9, 9). What are the coordinates of
Tara’s starting point?

A (3, 6)
B (2 6)
C (6,3)
D (312

37 Which data set has a mean of 67?

2,2,8,4,9
6,6,5,10,6
4,7,7,7,5
1,10,6, 5,2

OO0 w>»
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38 What is the value of the expression 2 + (3 x 7) — (24 + 8)??

A 7
B 14
c 17
D 26

39 The rectangles shown are similar. What is the width x?

42 ft 211t

14 ft

2 feet
3.5 feet
5 feet
7 feet

OO w>»

40 Each figure is made from 6 squares. Which figure does not have a perimeter of 12 units?

Copyright © 2005 - 2006 by Pearson Education Page 13 of 13



